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INTRODUCTORY ORGANIC CHEMISTRY I --- PROBLEM SET #3

INSTRUCTIONS: ANSWER ALL QUESTIONS ON THESE PAGES.
HAND IN (stapled, with no extra pages please) ON Thursday April 14™ (T will hold office hours that day from 6-7pm.)
ALL MATERIAL CAN ALL BE FOUND IN THE CLASS NOTES and/or IN BRUICE CHAPTERS 1-9, 11,
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# 3. Draw line structures of the major product(s) of the reactions below. If more than one product
is likely, draw both but indicate which product is preferred and why. For each rxn, also include:
i. the expected stereochemistry
ii. afew keywords about the mechanism that explain the reaction outcome
(eg., substitution/elimination (Snl, Sn2, El, E2), C+/radical intermediate, concerted, efc.).
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# 5. Which sequence of reagents would work best to cmm I-bromobufane To hexane? Explain

briefly. Hint: you may need to refer to the alkyne reactions from Ch.6...
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#7. e the following compounds (via a series of sequential reachons) starting from 'rhe

starting material shown. You can use any other reagents you need. For each step in your pnthm

« above/below the reaction arrow: show the required reagents (+ solvent & conditions if critical)

« after the arrow: draw the major product (& if you think the yield will not be good, say so..)
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Think forwead » will stack by <t ancd bl F.t."iﬂa &%’th«ﬂc anq'u-j et

W’ *“ﬁ;::h?wﬂ
O several steps \ w: ;..rlt"" d—@ O

SYNTHESIS:  3-sleg Seuonte

Bf1 KO‘E Nofe: for Sm.pk Sequences,
O\ﬁ THE, & -H-unkmj forwards 15
g t offen .'m.FF:amf‘
tnly Way . but as things gef
h want t eliminale g
'F'“kﬂcﬁnmf_m Hé', and not mole Comglicated ,

backwards
an alfanc! :‘a'-‘\ba.*hhh b E worhnj
2. blecte subst l"“] using 5-..':'9-\96! Ii:

4+ watm wp o life o encournie € liminabion
'brf’nff- ﬂ'dﬂ'—-“ =

—ﬂnlhhlnﬂ ‘ﬁl‘WﬂfA hht'hm-l ahv:‘nuﬁ e =)
E!et'.e.s'-
== £ 2 eSS = ?.Q al ", best used o E‘ECECH N ! -
(M) (D -y et "0 46 ( Wil dibide = precusor
b4 r g ;Mﬁ -\_ﬁ‘:bm alkene! ®‘C:C 1
Retro synthetic analysis “uc *?;K,M,\.\\_J |
" r*wt y '7 [I’ }t?t"'
‘ /\(f’@ /\\\ '—D /\ “’"’ SczcH
£, R .
""" ‘Y &
: Vo

SWTHB’S - L\"S‘H.‘f Sﬂﬁ/\%ﬂﬂ-
Sd //\BT B
HC = CH-E'LHCC h{“"'—‘——"?"/\{'} —Hi‘—-}/‘\ff-—’*—?"_)/ﬁ(\ar

THE «_ -m.; “H Uit Ccl, W Br
/ r"'HIT. {'.I 3 ||:d. Cﬂhlif.ﬂ' ‘r' and
FK" 5""“" of. mush cheese
=15 Cl’l\-ﬂ’-"- gase. Wi, h;n b " e tw (\E(‘-Jﬂ{ [h.gl\FE-} Hll} HH] :nal- e /Y\B’r
cony-and. pha 7 25 sahoert; S0 dow selueat .
« 48 nie jgu....g( Just f'ﬂhn"}e be tareful M* (_Rﬁmnq‘;)

£ Nue-
cacid Hy 315 Pk over ".i'fLJ.{
oukules awey (cleeal) (ned 3 cahlyct)




